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NLLUSHIISHE 28 g2z
950,000& 950
307 e12tol & 590,760 150,360 440,400
= 29,850
Al 274,653
- 286,257
05 2I2tRES 590,760 150,360 440,400
888 RISUIPISHE 2SHI(3HA)
100,800,000 100,800
= 10,800
Al 41,112
- 48,888
e R2SUIPISHE 2SHI(50HA)
89,900,000 89,900
= 17,400
Al 34,336
- 38,164
S8 RISUIPISHE SAHI(3HA)
322,560,000 322,560
Al 161,280
T 161,280
Neete 22SUIIISHE S4HI(5HA)
72,000,000 72,000
Al 36,000
- 36,000
NREISUPISHE AEAE 28I(1H2)
5,500,000& 5,500
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HE: HAEES U 54
=P OISESEAl &8 At CEREED
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
= 1,650
Al 1,925
- 1,925
401 Al HIZL 2 CHEI 10,000 10,000
01 Al&H| 10,000 10,000
NeelsURISdH K - 25
5,000,000 294 2 10,000
402 QI2tXH= 01 12,000 7,500 4,500
03 2I2-A EFAL BI 12,000 7,500 4,500
NEAM P 15,0002 * 1002 *87H 2 12,000
RelsSUIZISHE 12t 1,288,905 0 1,288,905
= 172,719
Al 914,680
- 201,506
307 212t01 & 1,288,905 0 1,288,905
= 172,719
Al 914,680
T 201,506
05 2IIAE =S 1,288,905 0 1,288,905
NLelsUPISHE 224H1(8HA)
1,266,421,000& 1,266,421
= 167,987
Al 902,449
T 195,985
NR2ISUDISHE HEAIE AAHI(1H4)
22,484,000 22,484
= 4,732
Al 12,231
T 5,521
A=7 ASE It 2 115,563 0 115,563
307 212t01 & 115,563 115,563
05 2I2tAE =S 115,563 115,563
1)QI124H1(3%, 9HE) 108,563
NEE 43,071,000& *1& 43,071
2)= 3 32,745,600 2 65,492
Nedgd(sus 8) 7,000,000& 7,000
ots2s X& 45,778 39,660 6,118
= 5,000
Al 5,000
T 35,778
Ot =At 2 B35 30,918 20,040 10,878
201 Zer2d| 23,718 13,040 10,678
01 At2t2lbl 22,830 12,152 10,678
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=9 Ol sEE A3 CEREED
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
I EEEUEEEr e
240,000 240
02 3324l 744 744 0
NOISESHERY ARXel FUHE 23
37,0002 *1CH* 122 444
= 222
Al 222
NBRH(0ISESHGRY) A2Ba|
300,000 x 113 300
202 044 5,220 5,220 0
= 1,410
Al 1,410
T 2,400
01 =LHOdHI 4,800 4,800 0
NOISESHEQA(AZHEHAMIIN 0=,
3BAIRZ}) 20,0003 x1Z+102x 122 2,400
= 1,200
Al 1,200
SR (0IsSESHERR) K
20,0002« 1 *102* 122 2,400
05 223 w=s0tl 420 420 0
NolSESsHER% W0
70,0002 x2H <33 420
= 210
Al 210
203 HR=4| 500 500 0
= 250
Al 250
03 AlZ=XH R =2H| 500 500 0
N0ISES gRFA 500,000 500
= 250
Al 250
301 Let2d= 6,036 11,036 25,000
= 3,018
Al 3,018
01 AFBIE2E X 4TS (S LEETHE) 6,036 11,036 A5,000
NES0ts Q=Hl, MbIA ¢ M34l, JIEt
A&l 4,036,000& 4,036
= 2,018
Al 2,018
NESE20ts 2A=H|, MHIA AN HIZSH],
JIELXI&H] 2,000,000& 2,000
= 1,000
Al 1,000
303 &= 70 70 0
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sz X2 CHo H )
SA - ZH - ERIEA) - HIRAY - BES ST 52
01 At 70 70 0
nEe e
70,0002 x1H 13 70
gexols N 1,800 1,800
301 Let2d= 1,800 1,800
02 ABIE2EHS(HAHS, NLWHA) 1,800 1,800
Ngaots =ot2 600,0002 1 600
N AotES =ot= 1,200,000& x1H 1,200
A 2A 3] 235,876 231,236 4,640
= 97,800
Al 52,160
- 85,916
oI 229,686 225,806 3,880
= 97,800
Al 52,160
- 79,726
QIHA2EH (FAE D 149,831 152,274 A2,443
= 65,200
Al 19,560
- 65,071
101 1A 132,731 134,960 N2,229
= 56,650
Al 16,995
- 59,086
03 8% 132,731 134,960 N2,229
1)ots (EZAEE A
g2 132,731
2)71 102,300,000 102,300
= 51,150
Al 15,345
- 35,805
2JNALRAZ R 11,000,000 11,000
= 5,500
Al 1,650
- 3,850
2)t 40,0003 x4~ 123 1,920
2)71 20,0003 x4 * 122 960
2)8 1,275,000& x4 H 23] 10,200
2)2!
85,468 x4 162 5,470
2)8 881,000 881
304 A= 17,100 17,314 N214
= 8,550




2A:

adu
B sx 2oy
Gl QIF2AHI(HAED) EERCED
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
Al 2,565
T 5,985
04 BRI (RINHL)22X EESRES S 17,100 17,314 214
1)0lSSE At ZCIAL D22 E 3 17,100
NELERES 1,800,000 1,800
= 900
Al 270
T 630
MATHEE = 1,280,000 1,280
= 640
Al 192
T 448
2)=23 5,200,000& 5,200
= 2,600
Al 780
T 1,820
A= 5,000,000& 5,000
= 2,500
Al 750
- 1,750
QEIAYS 3,820,000& 3,820
= 1,910
Al 573
- 1,337
QIHE2EHI(Ol=s2s ML) 79,855 73,532 6,323
= 32,600
Al 32,600
- 14,655
101 2l244| 71,847 66,357 5,490
= 29,834
Al 29,834
- 12,179
02 JIEHR 2 == 36,495 31,290 5,205
N0ISES MERR(AIEEHAIIH 0=,
3BAI2}) 36,495
2)HSHNH 2,139,000 «1H* 122 25,668
= 12,834
Al 12,834
28nes 280,000« 1H =122 3,360
)SEFARE 110,000& x 12+ 123 1,320
= 660
Al 660
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